file fasta = input()
kol C =0
kol G= 0
kol A= 0
kol T= 0
summa = O
my segs = {}
with open(file fasta, mode="r")
line = inp.readline()
while line != '':
name = line.strip() [1:]
seq = L]
line = inp.readline()

for

if elem == "A":

kol C +=1

if elem == "G":

kol G +=1

if elem == "T":

kol A +=1

if elem == "C":

kol T += 1

print ("C", kol C, f'

print ("G", kol G, f'

print ("A", kol A, f'

print ("T", kol T, £
("

print

while not line.startswith('>

seqg += line.strip/()

line =
my seds[name] =

inp.readline ()
seq

item in my segs.items() :

name, seq = item

for i in range (0, len(seq)):

elem = seq[i]
summa += 1
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